0,
. L - M
loct 16:  Move afpé;wtums a-.F agrang

O Atwovd’s machine

/x—-i-:]:: emst = X J l

-2
r

.2 —m
T= zmx *7Tm

> Lmi]
- ‘Ell. (_M|"1'mz.) X 3
g =

- —(ml-mz)gx+w$+
e - Mlg?( "ng'j = |

- - u

Y (“ m-m; (j
Y D X = ’
. i

'.{) ol éf: _> ’Qﬂ_'_mz)g’: (h\l-'rW\)

W+
29X

‘the rope .
£ inwlve the Constiraind Jorce aking
Movww( IWu

T G c(jﬂw(o/y-
©) FM{‘CCE[Q 0"‘-4?

B plt Pl +id
- P

=3 é"’ A@s(\[,i%nt LF)
= = mz
aﬁhi a. : a‘&g- ® = (m
- (az) _ Rz'ézi[m 9]_ L D 0 ot
o _ d aL)% 0= M g =
39-0‘*(839



6y, [ B2 X "\i’; e
Tha ';7”‘9 \Lk IR <y
. O S O T

TW\: -é-m ( 9.(1'*31)

i
—

A block and wealg.a_.
x= 9,1t qwsl X =%t ws Block slicles in the LU@Q’L/
Y= ¢ 9, smd b= 9, Smy and the wedge slilas o

2 . 2 'H\Q wrlla —_— ‘t:t“’m.
2 o= gnf gt ont) a5’ Frojfee— NEH

LU

sl [ g A+ add o )

U= =) g, smd > 4= U = g (M) q, G +2§ 4059l

-+ mggls'mo{
Tk dyn . "
ﬁz'we(?i) 5 ¥ 0= (Mim)g, + mg wset O
= Mé_z + m({z—k;{l&:sd) = comst — momaatum
Cumservectuy

4 > e i i i

%@% qz:“

:1., CJ}oL -3 P’&}ff\ )

M+m
‘ “the time the hdock SPadZ;
S ’ S
> a‘_‘z 8 ol — f5 veach the bottom (g
¥
| = m Cos{

- M+m N ’ze sz lh\fvs‘*



@Abeaelu{mssm. lwrrv:(l radius R.
Tkﬁlw'fris wiate ot O .

T dmdt = 2m (@87 + @pl] < P=rins
=—é|-n\R"(©"+w28“\f(9)

U= MR (- wse)

S {= imR (8" +wsmd ] — MRU-wso)

a’f)__ d rod = ynzzg' " } — W)
Eé'&l(’:«,@) = MR W SO ws© mIRSING = mR O

=5 g = (wzc‘:ss— j/R]Sw@

3 . 6=0,
Eg_\«b/brwm ?osli&m= [@WSQ‘Q/R\S"‘\@"D = ® 43
@:ke: Cus 4‘&

Diswss‘unQ ;_SL (4)7'< ‘?/R’CSMYUWQM),'HW‘”- Mzcm.% fwo

o, T

e}‘duorimn })us'\iim,g G=0, », T. ﬂwwv\n( O~0, We Ko 2
&=-[ %-w‘] g = JLéb= J¥ w2, steble
howd Ox T = © = (wl-f-%a)(e-ﬁ) —>  wstable

@ Y G> 3 > bothe te 670, and T become unstable
equwlih rium ros'c&ims_



Chack the positum 0, = w;':f% | and d-ﬂfme 0= 0,+aQ

%%% Cos & = wsO, Cosal — SO, Sma(9

& wsO, -SmB 4 9

gnp = SmBy. y t ws©,40

— 2 ;
_b W wsE©- % o LUZCUSGO-% B wJSn\GDa@ " = “328;“‘9006

e 2 < . .
= § e s LO g’m,{gbde % e W ')\"ﬂ\:‘.l-w J}vea_unoa
e TR ey - S —z

1= w s, = le— s O,

= w [l- e;_ﬁ)’]'/z



